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The block above is the sum of the two blocks below.  Fill in the missing blocks.

29 2 25 32 30

57

345

924.2 217.5

1087.2

2168.1 2216.3

3

4 4
9

13 8
9 7 1

3
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X 2 2

6
6 x 2

12
6 x 6 x 2

54
6 x 6 x

x 2 x

2
x 2 x x

18
x 2 x

18
x 2 x x

14
x 2

14
x x 2 x x

5
5 x 2 5 x 5 x 2 5 x

20
5 x

In the number 892,547, what 
digit is in the ten-thousands 
place?

A can of Play-Doh costs 5 
nickels. How many 
pennies have the same 
value as 5 nickels?

Color in 1
4

.

Leif Ericson and his crew 
traveled 3,288 miles on 
their trip. They traveled 
1,255 miles in the first 
month. How many miles 
did they travel after the 
first month?

Add one hundred to 552.
1 5
4 3

+ 4 0

word root pro can mean outward or forward program, provide

How many ninths are in 5?
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Help Robot find Rover.  Make a path of increasing 
differences.  You can only move to a box with a 
larger difference.  Draw a line to show your path.

2 7
- 2 6

8 1
- 7 9

8 6
- 8 3

9 9
- 9 5

6 7
- 6 0

4 4
- 3 6

6 8
- 1 7

4 6
- 2 8

5 2
- 4 4

8 5
- 3 1

8 8
- 1 5

8 3
- 5 8

5 0
- 3 6

5 6
- 4 5

5 2
- 4 3

9 8
- 5 5

5 6
- 3 9

6 7
- 5 1

8 6
- 1 7

4 0
- 2 4

3 7
- 2 0

9 4
- 7 2

9 0
- 6 7

7 3
- 4 7

4 3
- 1 5

7 1
- 4 0

8 1
- 8 0

7 7
- 6 9

6 0
- 5 6

9 4
- 1 8

5 9
- 4 1

4 8
- 4 4

6 8
- 2 4

6 1
- 3 0

6 9
- 3 7

6 0
- 1 6

7 5
- 6 7

2 7
- 2 6

7 0
- 3 3

4 9
- 1 6

7 2
- 3 4

7 3
- 5 6

9 2
- 2 9

8 7
- 5 1

8 0
- 7 9

7 5
- 2 5

9 7
- 4 9

7 8
- 3 1

8 6
- 4 0

9 3
- 4 8

5 4
- 1 2

9 5
- 5 4

5 9
- 2 1

5 2
- 3 3

8 1
- 3 0

8 4
- 3 2

7 2
- 1 9

7 1
- 1 7

7 3
- 1 8

8 3
- 2 4

9 4
- 3 4

7 6
- 1 4

5 7
- 3 8

9 7
- 5 8

7 8
- 4 2

9 4
- 1 7

8 7
- 8 4

8 2
- 2 5

8 7
- 1 3

6 6
- 1 9
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Kevin was boasting. He 
said that he was the 
strongest boy in third 
grade. He said that he 
was the smartest, too. 
He didn't see the hole in 
the sidewalk. He fell and 
broke his nose. He went 
to the hospital at 3:21 
p.m. He was there until 
4:25 p.m. How long was 
he at the hospital?

Ms. Johnson went to the 
store to buy fruit. She 
wanted to make a salad 
for the picnic. She 
bought 2.3 pounds of 
bananas, 2.7 pounds of 
sugar, 3.5 pounds of hot 
dogs, 2.4 pounds of 
strawberries, 3 pounds 
of oranges, and 4.3 
pounds of ground beef. 
How many pounds of 
fruit did she buy?

Jenna is playing 
"Penguin Parade" with 
her best friend. The 
spinner for the game 
has twelve spaces. Five 
of the spaces have two 
penguins on them. The 
rest have one penguin 
on them. On Jenna's 
first spin, what is the 
chance the pointer will 
stop on a space with 
one penguin?

There are seven cars parked 
in a row exactly the same 
distance from each other.  
The first car is 32 inches from 
the second car.  The first car 
is 64 inches from the third car.
How far is the fifth car from 
the second car?

Write an even number with a 
nine in the hundreds place.

thown

trown

thriwn

thrown

If  = 11, then 19 -  = 
Write a word to describe January. Color 7

10 .

word root tort can mean twist contortion, distort, distortion

What are 100 tens equal to?

Do parallel lines intersect?

Write the number for 
two thousand one 
hundred eight.
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Which is larger, 3
5 or 2

4 ? Round 364,817 to the nearest 
ten-thousand. 5 9

+ 9 6

The factors of 18 are 2 3
Write the correct symbol.

< = >

2,244 2,244

Write the number with 2 
hundreds and 5 
ten-thousands.

Write a fraction to represent what is shaded.

4 7 + 5 2 =
Share 14 equally among 2.

4 16

7 49

Fill in the missing fractions.

1
6 , 2

6 , ,
4 6

- 4 2

It is 89 degrees Fahrenheit 
outside.  What would you 
wear if you are going 
outside?

Calculate the product of 8 
and 10.

Write the unshaded part as a decimal.
9 8

- 5 3

word root ex can mean out exit, exile

8 24
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This is the look at one cube
that is turned around a few times.

8
5

4

6
8

4

3
9

6

This pattern can be folded into
the cube.  Fill in the missing boxes.

8
6 9

3

How many centimeters are in 
five hundred millimeters?

cuod

culd

could

kudd

Make a pattern.
Start with 25.
Add 6; subtract 3.

, , , , ,

What number is one 
thousand more than 7,080?

What is the third month with 
31 days?

What are 20 hundreds equal 
to? 8 3

+ 1 2

Round the number to the
place value of the BIG number.

897,342

6
x 9

1 1
x 9

5
x 1 1

1 1
x 8

Would you use a ruler or a 
yardstick to measure the 
length of the height of your 
teacher?

List the first four multiples of 7.
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230,8
+ 569,4

115,5
+ 228,9

435,5
+ 127,4

632,61
- 625,8

770,71
- 764,7

383,9
- 307,7

376,8
- 364,5

075,6
+ 357,8

989,1
+ 370,9

839,01
- 480,4

178,5
+ 346,8

521,41
- 847,5

147,4
- 923,1

470,6
+ 558,2

732,8
+ 359,8

147,7
- 325,6

870,5
+ 726,3

005,21
- 928,6

466,1
+ 628,8

819,5
+ 940,6

980,01
- 774,4

331,7
- 152,1

252,11
- 858,9

186,7
+ 730,6

870,8
+ 523,5

045,4
+ 818,2

953,21
- 510,5

651,7
- 165,4

1
+ 3

+ 6

+ 3

+ 8

12
-

31
+

02
+ 6

- 5

12
+

52
+

43
+ 7
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3 3 8 0 + 3 = 3 0 2 - 7 1 1 4 0 -
+ 3 8

Use the pieces above to help you fill in the runaway math puzzle.

What polygon has eight sides? Is 37 prime or composite?
7 8

- 5 9

4 6
+ 1 8

If there are two red marbles 
and three green marbles in a 
box, what is the probability 
that you will pick out a green 
one with your eyes shut?

What is the value
of the BIG digit?

8,039,437

Circle the word that best completes the 
sentence.
I will meet you (there/their).

Circle the correctly spelled words.
enuff, enough
excuse, exkuse
flower, flowr

9

0 -

9 + 4 = 1 6

2 + =

+ 1 0 - 6 = 7 -

8 = + -

0 7 5

2 1 2 + = 4

= 0 0

- 1 3 + = 7

+ 6 + 8 = 1 4 1

= + 0

6 6 7 -

+ 2 = 5 5

1
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Mr.  Smith put 117 children's books on the shelves.  Each shelf held 9 books.  How many 
shelves did he use?

Mrs.  King made 3 kinds of sandwiches for the picnic.  She made the same number of each 
kind.  If she made 30 sandwiches, how many of each kind did she make?

There are 87, 88, or 89 horses in the herd.  The number of horses is not divisible by 2 or 3.  
How many horses are in the herd?
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Make change.  You can use $20, $10, $5, $1, 25¢, 10¢, 5¢,  or 1¢.

Use the fewest bills and coins to make $33.52.

$10

1¢

Use the fewest bills and coins to make $32.58.

Use the fewest bills and coins to make $43.26.

Use the fewest bills and coins to make $22.13.

Write 659 in expanded 
notation.

Can you think of a five-letter word 
that has the vowel E in it? 2

x 1 1

word root mob can mean move immobile, mobile, mobility
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Complete each analogy with the best word.

sand brow bird insect
hot rainy fish hide-out

wind sun meat rowing
crime saw clue beet

anchor water costume turtle

clam : shellfish ::

sea gull : 

scene : seen ::

beat : 

car : gasoline ::

sailboat : 

decoy : look-alike ::

disguise : 

Circle the smallest number.
567 548 520
538 544

Add.  Fill in the blanks.

+ 8 1 9

5 13 14

7 8

What is one-tenth of 60? Complete each analogy with the best word.

head legs back scarf
earplugs feet coat earmuffs

gloves : hands ::

helmet : 

head : hat ::

ears : 

What place value does the 9 
have in 91,472?
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